
Subject: Re: too many TLB resize events
Posted by Mark Hadfield on Mon, 29 Nov 1999 08:00:00 GMT
View Forum Message <> Reply to Message

Richard G. French <rfrench@wellesley.edu> wrote in message
news:383F54FE.CC7EB2AC@wellesley.edu...
> 
>> 
>>  Thanks David, I knew it had to be something simple.
>> 
>>  Brad
> 
>  Driver to mechanic: "$75.10 just to turn a knob? That's outrageous! How
>  did you come up with that repair bill?"
> 
>  Mechanic: "Ten cents for turning the knob. $75 for knowing which knob to
>  turn."

And David does it for free!

---
Mark Hadfield
m.hadfield@niwa.cri.nz  http://katipo.niwa.cri.nz/~hadfield/
National Institute for Water and Atmospheric Research
PO Box 14-901, Wellington, New Zealand
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